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B i sin240° iii. sin300° L ]

xii. tan(—240°)
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25.

26.1f sinf = — % and 0 is an reflex angle find cos6 and tan0

27.
28.

29.1ftan® = —= and 0O is an obtuse angle, find cos6 and sin6
30.
31.
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secO+tanb

1-sinf
cos6
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1+sin6 1-sin6
= 2tan ©
\/1—sine i+ \/1+si116
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(iii) 2 (sin®x * cos® x) - 3 (sin* x + cos*x) + sin2 x + cos2x =0
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434. If atan x = tan ax show that sin a’x = L X and if
1+(a%2-1)sin?x

—t2

t2

==

tan x = t show that cos 2x =

B
o
b
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(V) 4 sin 67% sin 22% (vi) 4cos (2a— B) cos (2a + B)
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432 |

a) interms of x only

488. For any value of 6 show that tanf tan (g — 39) cannot take any values

1
between 3 and 3.

46
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